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Each greenhouse gas’s (GHG) global warming potential (GWP) is measured against CO2 as a reference gas



The Climate Change Act (2008) was introduced to ensure the UK cuts its carbon dioxide equivalent emissions 
by 80% by 2050 against a 1990 baseline 

The interim targets for reductions in carbon dioxide equivalent emissions to meet the Climate Change Act are 
• a 34% reduction by 2020 
• a 50% reduction by 2025



In 2008 the NHS contributed around 3% of England's 
total carbon dioxide emissions the equivalent of 18m 
tonnes of C02 per year, making it the largest public 
sector contributor to climate change. 

The NHS, public health and social care system has set an 
ambitious goal to reduce carbon dioxide equivalent 
emissions across building energy use, travel and 
procurement of goods and services by 34% by 2020. 
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“The climate emergency is a health emergency,” Stevens said.

“We, the NHS, as the single biggest organisation across this

country are both part of the solution and part of the problem.

We are 40% of public sector emissions, and although we have

reduced our carbon footprint by around a fifth over the past

decade, we’ve got to make major changes if we’re going to help

this country become carbon net neutral.”
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The NHS produces millions of tonnes of waste, and is responsible for 
6.3% of England’s total carbon emissions and 5% of travel in the UK;

What are the top 5 high impact changes that healthcare systems can 
make as a meaningful contribution towards mitigating climate 
change?


